




 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 











 





x²= 6,828; p=0,009



x²=1,210; p=0,271





x²= 0,002; p=0,963
x²=1,159; p=0,282





x²= 10,941; p=0,001
x²=0,408; p=0,523









 



 



 





 





x²= 1,088; p=0,297
x²=0,249; p=0,618

x²=0,341; p=0,559 / x²=1,011; p=0,315 / x²=0,549; p=0,459 

 



 

 





 



 

 







 

80,0 

2,9 

11,4 

5,7 
Cumpro
integralmente e
concordo

Cumpro
integralmente mas
discordo

Cumpro parcialmente

Não cumpro de todo



 



 

 



 





















 

 

 

 

 



 

 


